
Page 1 of 2 

 

 

Illustrated Parts & 
Packing List 

815 Rice Lake Street, Owatonna, MN 55060 

Phone: 800-443-2476 / 507-451-5430 
www.gandy.net / Email: sales@gandy.net 

 

62183 
Deflector Package For 1-1/4 inch I.D Tubing (or 1-1/2 O.D. Tubing) 

16 Deflectors 
 

1 ....................... 5516-B ................................. Angle Bundle Containing: (Angles Banded Together) 

 4 ............... 5508227-4 ............................ Angle Deflector Mounting (96-inch) 

 2 ............... 5508227-6 ............................ Angle Mount Extension for 126-inch (30-inch Long) 

 

1 ....................... 62183-A ............................... Parts Carton: (All Hardware in Hardware Bag) 

 2 ................ 5508227-7 ............................ Splice For 126” Angle (11-inch Long) 

   Use: 12 Hex Bolt (5/16 x 3/4) (C03-0312-030) 

    12 Lock Washer (5/16) (C02-0312-010) 

    12 Hex Nut (5/16) (C01-0312-010) 

 8 ................ 5508228-4 ............................ Bar Clamp 

   Use: 16 Hex Bolt (3/8 x 5) (C03-0375-180) 

    16 Lock washer (3/8) (C02-0375-010) 

    16 Hex Nut (3/8) (C01-0375-010) 

 8 ................ 5508228-3 ............................ Hanger Strap, Deflector Angle 

   Use: 8  Hex Bolt (3/8 x 1-1/4) (C03-0375-051) 

    8 Lock washer (3/8) (C02-0375-010) 

    8 Hex Nut (3/8) (C01-0375-010) 

 16 .............. 62851-51 .............................. Deflector (For 1-1/2 inch I.D. Tubing) (or 1-1/2 O.D. Tubing) 

    Use: 32  Hex Bolt (5/16 x 34) (C03-0312-030) 

    32 Lock Washer (5/16) (C02-0312-010) 

    32 Hex Nut (5/16) (C01-0312-010) 

    20 Pan Head Taping Type AB (#8 x 3/8) (C07-0164-050) 

 

1 ....................... 58H8319 .............................. Hardware Bag Containing The Following: (in Parts Carton 62183-A) 

 44 .............. C01-0312-010 ...................... Hex Nut (5/16) 

 24 .............. C01-0375-010 ...................... Hex Nut (3/8) 

 44 .............. C02-0312-010 ...................... Lock Washer (5/16) 

 24 .............. C02-0375-010 ...................... Lock Washer (3/8) 

 44 .............. C03-0312-030 ...................... Hex Bolt (5/16 x 3/4) 

 8 ................ C03-0375-051 ...................... Hex Bolt (3/8 x 1-1/4) 

 16 .............. C03-0375-180 ...................... Hex Bolt (3/8 x 5) 

 20 .............. C07-0164-050 ...................... Pan Head Taping Type AB (#8 x 3/8) 

 

 

 

 

 

 

 

 



Page 2 of 2 

 

 

Note: 

The deflector package uses two angles at 96-inches long and two angles at 126-inch long. 

To get the two 126-inch long angles bolt the 5508227-6 angle mount extension 30-inch long to the end of the 96-inch 

long angle using the provided splice 508227-7 and hardware as shown below. 

 

 
 
Drawing: 62183 

March 19, 2013 

Printed in the USA 


